Solving Quadratics Using the Formula

Solve these quadratic equations, giving
your answers to 2 decimal places.

fa)y x4 5x £1 =0
(b)
(c)
(d)
(e)
(f)

x2-5x+1=0
2x2+5x+1=0
2x2-7x-6=0
4x*+x—-6=0
4x2+9x—2=0

Solve these quadratic equations, giving
your answers to 2 decimal places.

(@ 2x* ="5% +16
(D) & x> LT
{€)" " S5x2=Hdxs
(d)  2xii=35%

Solve these quadratic equations, leaving
your answers in surd form.

(a) 4x>-9x+4=0
() 0 xs +3x="2

@ X2+ 3x—6=10
(d) Tx2 4 82x 1+ 2 =10

(a)

equation are x =

The answers to a quadratic
3+V37
R

What is the quadratic equation?

(b)

Solve the equation
3
Xie—="7
X
Give your answers correct to 2 decimal

places.

(c) What is special about the solutions to
the equation

4x* —4x+1=0

(a) oc= - 0:2],0c=-4719
(o) L= 479, oc= 0.2\
(C) o¢=-0:22 et a2
(&) cc=4.21 ,5c= -0-7!
(e) cc=111,0c=-1.36
(F) oe= 0.20,0e= -2:45

(a) =339 ,2¢=-0%
(o) oc=0.27,0c=—1-27]
(c) x=245,x> ~025
(a0 5 oc=—a

(q)‘q55£2§=3:

8
(b) -3 %65 .
\4
(¢) <= -32{33
-

(&) oc=-6=i22
7

(0) ¢*-2c -1=0

e)aoe +3 TG
() 2 toe &= 0

~ = 6.94 ,5¢= 0-46
@) ’T\r\¢6 ore. bootnhtre scrne
o= /9_

(repeotad mots)




